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Von	
  Neumann	
  

  Il	
  modello	
  di	
  Von	
  Neumman	
  è	
  alla	
  base	
  della	
  
stru:ura	
  dei	
  computer	
  a:uali	
  
  Due	
  componen>	
  principali	
  
o  Memoria,	
  dove	
  sono	
  memorizzari	
  i	
  programmi	
  e	
  i	
  da>	
  
o  Unità	
  centrale	
  di	
  elaborazione,	
  che	
  ha	
  il	
  compito	
  di	
  
eseguire	
  i	
  programmi	
  immagazzina>	
  in	
  memoria	
  
prelevando	
  le	
  istruzioni	
  (e	
  i	
  da>	
  rela>vi),	
  
interpretandole	
  ed	
  eseguendole	
  una	
  dopo	
  l’altra	
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La	
  macchina	
  di	
  Von	
  Neumann	
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36   ◾   Introduction to Programming Language

is processed in the arithmetic and logical unit (ALU) within the CPU, and the resulting 
data are stored back to the memory, as shown in Figure 2.1. Frequently used data items or 
their references are stored in hardware registers for faster access time. The von Neumann 
machine has a program counter, which contains the memory address of the next instruc-
tion to be executed. The program counter is incremented by one after fetching the current 
instruction. However, its value can be altered using conditional and unconditional jump 
statements.

The instructions could be categorized as loading from the memory (load); storing into 
the memory (store); performing arithmetic computations of addition, subtraction, multipli-
cation, and division; logical computations such as logical-AND, logical-OR, exclusive-OR, 
and negation; comparing two values; conditionally or unconditionally jumping to another 
nonadjacent instruction by changing the value of the program counter and by checking 
the status of various system-level flags. The various flags are stored in a register called the 
program status word (PSW). In addition to these categories of instructions, instruction sets 
also support various addressing mechanisms to address the operands, depending upon the 
computer architecture.

2.1.1 Address Mechanisms
In the von Neumann machine, data or addresses of memory locations can be temporarily 
stored in the registers or in the memory (RAM). Similarly, a memory location can also 
hold data, as well as address of another memory location. If a memory holds the data, then 
it is accessed by an instruction using a single memory access called direct access. However, 
if a memory location holds the address of another memory location, then two memory 
accesses are needed to load the data into the CPU, and this method is called indirect access. 
In addition to direct and indirect accesses, an offset can be added or subtracted to an 
address stored in a register or another address to calculate a new address. This offset-based 
method is used to access subfields of complex data structures, where one needs to store the 
base address of the first memory location of the data structure and compute the address of 
the subfields by adding the offset of the subfield to the base address.

A computer may support 0-address, 1-address, 2-address, or 3-addresses, depending 
upon the computer architecture. As summarized in Table 2.1, the number of addresses 
is given by the maximum number of arguments the set of assembly-level instructions in 

Memory (instruction + data)
(main storage)

Controller + ALU + registers
(computation and temporary fast storage)

Load Store

FIGURE 2.1 A von Neumann machine.   



Ciclo	
  Fetch-­‐Execute	
  

  Fetch:	
  L’istruzione	
  da	
  eseguire	
  viene	
  prelevata	
  dalla	
  memoria	
  
e	
  trasferita	
  all’interno	
  della	
  CPU	
  

  Decode:	
  L’istruzione	
  viene	
  interpretata	
  e	
  vengono	
  avviate	
  le	
  
azioni	
  interne	
  necessarie	
  per	
  la	
  sua	
  esecuzione	
  

  Data	
  Fetch:	
  Sono	
  preleva>	
  dalla	
  memoria	
  i	
  da>	
  sui	
  quali	
  
eseguire	
  l’operazione	
  prevista	
  dalla	
  istruzione	
  

  Execute:	
  È	
  portata	
  a	
  termine	
  l’esecuzione	
  dell’operazione	
  
prevista	
  dalla	
  istruzione	
  

  Store:	
  È	
  memorizzato	
  il	
  risultato	
  dell’operazione	
  prevista	
  
dalla	
  istruzione	
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Il	
  modello	
  di	
  Van	
  Neumann	
  

  Il	
  modello	
  di	
  Von	
  Neumann	
  fornisce	
  il	
  livello	
  di	
  
astrazione	
  corre:o	
  per	
  descrivere	
  l’archite:ura	
  
dei	
  sistemi	
  di	
  elaborazione	
  
Nel	
  modello	
  si	
  può	
  descrivere	
  adeguatamente	
  
o  prefetching	
  delle	
  istruzioni	
  
o  parallelismo	
  della	
  CPU	
  

Domanda:	
  Il	
  modello	
  van	
  Neumann	
  è	
  adeguato	
  
per	
  descrivere	
  l’organizzazione	
  conce:uale	
  dei	
  
linguaggi	
  di	
  programmazione?	
  

7 



Macchine	
  Astra:e	
  

Macchina	
  Astra/a:	
  un	
  sistema	
  virtuale	
  che	
  
rappresenta	
  il	
  comportamento	
  di	
  una	
  macchina	
  
fisica	
  individuando	
  precisamente	
  l’insieme	
  delle	
  
risorse	
  necessarie	
  per	
  l’esecuzione	
  di	
  programmi	
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Macchine	
  astra:e	
  

Una	
  collezione	
  di	
  stru:ure	
  da>	
  e	
  algoritmi	
  in	
  grado	
  di	
  
memorizzare	
  ed	
  eseguire	
  programmi	
  
Componen>	
  della	
  macchina	
  astra:a	
  
o  interprete	
  
o  memoria	
  (da>	
  e	
  programmi)	
  
o  controllo	
  
o  operazioni	
  “primi>ve”	
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Interprete

Programma

Dati

op1
op2
…

 opn
Controllo

Op.	
  primi>ve	
  Memoria 



Componente	
  di	
  controllo	
  

Una	
  collezione	
  di	
  stru:ure	
  da>	
  e	
  algoritmi	
  per	
  
o  acquisire	
  la	
  prossima	
  istruzione	
  
o  acquisire	
  gli	
  operandi	
  e	
  memorizzare	
  i	
  risulta>	
  
delle	
  operazioni	
  

o  ges>re	
  le	
  chiamate	
  e	
  i	
  ritorni	
  dai	
  so:oprogrammi	
  
o  ges>re	
  i	
  thread	
  
o  mantenere	
  le	
  associazioni	
  fra	
  nomi	
  e	
  valori	
  
denota>	
  

o  ges>re	
  dinamicamente	
  la	
  memoria	
  
o  …	
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L’interprete	
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controllo 

controllo 

operazioni 

start

stop

acquisisci la  
prossima istruzione

decodifica

acquisisci gli operandi

seleziona 

esegui op1 esegui op2 esegui opn esegui alt ... 

memorizza il risultato

controllo 



Il	
  linguaggio	
  macchina	
  

  M	
  macchina	
  astra:a	
  
  LM	
  linguaggio	
  macchina	
  di	
  M	
  
o  è	
  il	
  linguaggio	
  che	
  ha	
  come	
  stringhe	
  legali	
  tu\	
  i	
  
programmi	
  interpretabili	
  dall’interprete	
  di	
  M	
  

  I	
  programmi	
  sono	
  par>colari	
  da>	
  su	
  cui	
  opera	
  l’interprete	
  
  Alle	
  componen>	
  di	
  M	
  corrispondono	
  componen>	
  di	
  LM	
  
o  >pi	
  di	
  dato	
  primi>vi	
  
o  costru\	
  di	
  controllo	
  

! per	
  controllare	
  l’ordine	
  di	
  esecuzione	
  
! per	
  controllare	
  acquisizione	
  e	
  trasferimento	
  da>	
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Implementare	
  macchine	
  astra:e	
  

  M	
  macchina	
  astra:a	
  
  I	
  componen>	
  di	
  M	
  sono	
  realizza>	
  mediante	
  stru:ure	
  da>	
  e	
  
algoritmi	
  implementa>	
  nel	
  linguaggio	
  macchina	
  di	
  una	
  
macchina	
  ospite	
  MO,	
  già	
  esistente	
  (implementata)	
  

  È	
  importante	
  la	
  realizzazione	
  dell’interprete	
  di	
  M	
  
o  può	
  coincidere	
  con	
  l’interprete	
  di	
  MO	
  

! 	
  M	
  è	
  realizzata	
  come	
  estensione	
  di	
  MO	
  

! altri	
  componen>	
  della	
  macchina	
  possono	
  essere	
  diversi	
  
o  può	
  essere	
  diverso	
  dall’interprete	
  di	
  MO	
  

! 	
  M	
  è	
  realizzata	
  su	
  MO	
  in	
  modo	
  interpretaGvo	
  
! altri	
  componen>	
  della	
  macchina	
  possono	
  essere	
  uguali	
  

13 



Da	
  linguaggio	
  a	
  macchina	
  astra:a	
  

  M 	
  macchina	
  astra:a	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  LM 	
  linguaggio	
  macchina	
  di	
  M	
  
  L	
  	
  	
  	
  linguaggio	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ML	
  	
   	
  macchina	
  astra:a	
  di	
  L	
  
  Implementazione	
  di	
  L	
  	
  =	
  	
  	
  
realizzazione	
  di	
  ML	
  su	
  una	
  macchina	
  ospite	
  MO 

  Se	
  L	
  è	
  un	
  linguaggio	
  ad	
  alto	
  livello	
  e	
  MO	
  una	
  macchina	
  “fisica”	
  
o  l’interprete	
  di	
  ML è	
  necessariamente	
  diverso	
  	
  
dall’interprete	
  di	
  MO	
  
! 	
  ML	
  è	
  realizzata	
  su MO in	
  modo	
  interpreta>vo	
  
! l’implementazione	
  di	
  L	
  si	
  chiama	
  interprete	
  
! esiste	
  una	
  soluzione	
  alterna>va	
  basata	
  su	
  tecniche	
  di	
  
traduzione	
  (compilatore?)	
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Implementare	
  un	
  linguaggio	
  

  L	
   	
   	
  linguaggio	
  ad	
  alto	
  livello	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
  ML	
   	
  macchina	
  astra:a	
  di	
  L	
  

  MO	
   	
  macchina	
  ospite	
  	
  
interprete	
  (puro)	
  
o  ML	
  è	
  realizzata	
  su	
  MO	
  in	
  modo	
  interpreta>vo	
  
o  scarsa	
  efficienza,	
  sopra:u:o	
  per	
  colpa	
  dell’interprete	
  (ciclo	
  di	
  decodifica)	
  
compilatore	
  (puro)	
  
o  i	
  programmi	
  di	
  L	
  sono	
  trado\	
  in	
  programmi	
  funzionalmente	
  equivalen>	
  

nel	
  linguaggio	
  macchina	
  di	
  MO	
  
o  i	
  programmi	
  trado\	
  sono	
  esegui>	
  dire:amente	
  su	
  MO	
  	
  

! 	
  ML	
  non	
  viene	
  realizzata	
  
o  il	
  problema	
  è	
  quello	
  della	
  dimensione	
  del	
  codice	
  prodo:o	
  
Casi	
  limite	
  che	
  nella	
  realtà	
  non	
  esistono	
  quasi	
  mai	
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La	
  macchina	
  intermedia	
  

  L	
  	
  	
  	
  	
  	
  linguaggio	
  ad	
  alto	
  livello	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
  ML	
  	
  	
  macchina	
  astra:a	
  di	
  L	
  
  MI	
  	
  	
  	
  macchina	
  intermedia	
  
  LMI	
  	
  	
  linguaggio	
  intermedio	
  
  MO	
  	
  	
  macchina	
  ospite	
  	
  
o  traduzione	
  dei	
  programmi	
  da	
  L	
  al	
  linguaggio	
  intermedio	
  LMI	
  
o  realizzazione	
  della	
  macchina	
  intermedia	
  MI	
  su	
  MO	
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ML MI MO 

Programma in L Programma in LMI 

realizzazione

traduzione 



Intepretazione	
  e	
  traduzione	
  pure	
  

  ML	
  =	
  MI	
  	
  	
  	
  interpretazione	
  pura	
  
  MO=	
  MI	
  	
  	
  	
  traduzione	
  pura	
  
o  possibile	
  solo	
  se	
  la	
  differenza	
  fra	
  MO	
  	
  e	
  ML	
  è	
  molto	
  limitata	
  

! 	
  L	
  linguaggio	
  assembler	
  di	
  MO	
  
o  in	
  tu\	
  gli	
  altri	
  casi,	
  c’è	
  sempre	
  una	
  macchina	
  intermedia	
  che	
  estende	
  

eventualmente	
  la	
  macchina	
  ospite	
  in	
  alcuni	
  componen>	
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ML MI MO 

Programma in L Programma in LMI 

realizzazione



Il	
  compilatore	
  

Quando	
  l’interprete	
  della	
  macchina	
  intermedia	
  MI	
  coincide	
  
con	
  quello	
  della	
  macchina	
  ospite	
  MO	
  
Che	
  differenza	
  esiste	
  tra	
  MI	
  e	
  MO?	
  
o  il	
  supporto	
  a	
  tempo	
  di	
  esecuzione	
  (rts)	
  

! collezione	
  di	
  stru:ure	
  da>	
  e	
  so:oprogrammi	
  che	
  
devono	
  essere	
  carica>	
  su	
  MO	
  (estensione)	
  per	
  
perme:ere	
  l’esecuzione	
  del	
  codice	
  prodo:o	
  dal	
  
tradu:ore	
  (compilatore)	
  

o  MI	
  =	
  MO	
  +	
  rts	
  	
  
  Il	
  linguaggio	
  LMI	
  è	
  il	
  linguaggio	
  macchina	
  di	
  MO	
  esteso	
  con	
  
chiamate	
  al	
  supporto	
  a	
  tempo	
  di	
  esecuzione	
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A	
  cosa	
  serve	
  il	
  rts?	
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  Un	
  esempio	
  da	
  un	
  linguaggio	
  an>co	
  (FORTRAN):	
  in	
  linea	
  di	
  
principio	
  è	
  possibile	
  tradurre	
  totalmente	
  un	
  programma	
  FORTRAN	
  
in	
  un	
  linguaggio	
  macchina	
  puro,	
  senza	
  chiamate	
  al	
  rts,	
  ma...	
  
o  la	
  traduzione	
  di	
  alcune	
  primi>ve	
  FORTRAN	
  (per	
  esempio,	
  
rela>ve	
  all’ingresso	
  uscita)	
  produrrebbe	
  cen>naia	
  di	
  istruzioni	
  in	
  
linguaggio	
  macchina	
  
! se	
  le	
  inserissimo	
  nel	
  codice	
  compilato,	
  la	
  sua	
  dimensione	
  
crescerebbe	
  a	
  dismisura	
  

! in	
  alterna>va,	
  possiamo	
  inserire	
  nel	
  codice	
  una	
  chiamata	
  a	
  
una	
  rou>ne	
  (indipendente	
  dal	
  par>colare	
  programma)	
  	
  

! tale	
  rou>ne	
  deve	
  essere	
  caricata	
  su	
  MO	
  ed	
  entra	
  a	
  far	
  parte	
  
del	
  rts	
  

Nei	
  veri	
  linguaggi	
  ad	
  alto	
  livello,	
  questa	
  situazione	
  si	
  presenta	
  per	
  
quasi	
  tu\	
  i	
  costru\	
  del	
  linguaggio	
  
o  meccanismi	
  di	
  controllo	
  
o  non	
  solo	
  rou>ne	
  ma	
  anche	
  stru:ure	
  da>	
  



Il	
  compilatore	
  C	
  

  Il	
  supporto	
  a	
  tempo	
  di	
  esecuzione	
  con>ene	
  	
  
o  varie	
  stru:ure	
  da>	
  

! lo	
  stack	
  
o ambiente,	
  memoria,	
  so:oprogrammi,	
  …	
  

! la	
  memoria	
  a	
  heap	
  
o puntatori,	
  ...	
  

o  i	
  so:oprogrammi	
  che	
  realizzano	
  le	
  operazioni	
  
necessarie	
  su	
  tali	
  stru:ure	
  da>	
  	
  

  Il	
  codice	
  prodo:o	
  è	
  scri:o	
  in	
  linguaggio	
  macchina	
  
esteso	
  con	
  chiamate	
  al	
  rts	
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Implementazioni	
  miste	
  

  Quando	
  l’interprete	
  della	
  macchina	
  intermedia	
  
MI	
  è	
  diverso	
  da	
  quello	
  della	
  macchina	
  ospite	
  MO	
  
  Esiste	
  un	
  ciclo	
  di	
  interpretazione	
  del	
  linguaggio	
  
intermedio	
  LMI	
  realizzato	
  su	
  MO	
  
o  per	
  o:enere	
  un	
  codice	
  trado:o	
  più	
  compa:o	
  
o  per	
  facilitare	
  la	
  portabilità	
  su	
  più	
  macchine	
  ospi>	
  
o  si	
  deve	
  reimplementare	
  l’interprete	
  del	
  linguaggio	
  
intermedio	
  

o  non	
  è	
  necessario	
  reimplementare	
  il	
  tradu:ore	
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Compilatore	
  o	
  
implementazione	
  mista?	
  

  Nel	
  compilatore	
  non	
  c’è	
  di	
  mezzo	
  un	
  livello	
  di	
  
interpretazione	
  del	
  linguaggio	
  intermedio	
  
o  sorgente	
  di	
  inefficienza	
  

! la	
  decodifica	
  di	
  una	
  istruzione	
  nel	
  linguaggio	
  intermedio	
  (e	
  la	
  sua	
  
trasformazione	
  nelle	
  azioni	
  seman>che	
  corrisponden>)	
  viene	
  
effe:uata	
  ogni	
  volta	
  che	
  si	
  incontra	
  l’istruzione	
  

  Se	
  il	
  linguaggio	
  intermedio	
  è	
  proge:ato	
  bene,	
  il	
  codice	
  
prodo:o	
  da	
  una	
  implementazione	
  mista	
  ha	
  dimensioni	
  
inferiori	
  a	
  quelle	
  del	
  codice	
  prodo:o	
  da	
  un	
  compilatore	
  
  Un’implementazione	
  mista	
  è	
  più	
  portabile	
  di	
  un	
  
compilatore	
  
  Il	
  supporto	
  a	
  tempo	
  di	
  esecuzione	
  di	
  un	
  compilatore	
  si	
  
ritrova	
  quasi	
  uguale	
  nelle	
  stru:ure	
  da>	
  e	
  rou>ne	
  
u>lizzate	
  dall’interprete	
  del	
  linguaggio	
  intermedio	
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L’implementazione	
  di	
  Java	
  

È	
  una	
  implementazione	
  mista	
  
o  traduzione	
  dei	
  programmi	
  da	
  Java	
  a	
  byte-­‐code,	
  linguaggio	
  
macchina	
  di	
  una	
  macchina	
  intermedia	
  chiamata	
  Java	
  Virtual	
  
Machine	
  

o  i	
  programmi	
  byte-­‐code	
  sono	
  interpreta>	
  
o  l’interprete	
  della	
  Java	
  Virtual	
  Machine	
  opera	
  su	
  stru:ure	
  da>	
  
(stack,	
  heap)	
  simili	
  a	
  quelle	
  del	
  rts	
  del	
  compilatore	
  C	
  
! la	
  differenza	
  fondamentale	
  è	
  la	
  presenza	
  di	
  una	
  ges>one	
  
automa>ca	
  del	
  recupero	
  della	
  memoria	
  a	
  heap	
  (garbage	
  collector)	
  

o  su	
  una	
  >pica	
  macchina	
  ospite,	
  è	
  più	
  semplice	
  realizzare	
  
l’interprete	
  di	
  byte-­‐code	
  che	
  l’interprete	
  di	
  Java	
  	
  

! il	
  byte-­‐code	
  è	
  più	
  “vicino”	
  al	
  >pico	
  linguaggio	
  macchina	
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Tre	
  famiglie	
  di	
  implementazioni	
  

Interprete	
  puro	
  
o  ML	
  = MI 
o  interprete	
  di L realizzato	
  su	
  MO  
o  alcune	
  implementazioni	
  (vecchie!)	
  di	
  linguaggi	
  logici	
  e	
  funzionali	
  
(LISP,	
  PROLOG)	
  

Compilatore	
  
o  macchina	
  intermedia	
  MI	
  realizzata	
  per	
  estensione	
  sulla	
  
macchina	
  ospite	
  MO (rts,	
  nessun	
  interprete)	
  (C,	
  C++,	
  PASCAL)	
  

Implementazione	
  mista	
  
o  traduzione	
  dei	
  programmi	
  da	
  L	
  a	
  LMI	
  
o  i	
  programmi	
  LMI	
  sono	
  interpreta>	
  su	
  MO 	
  

! Java	
  	
  
! i	
  “compilatori”	
  per	
  linguaggi	
  funzionali	
  e	
  logici	
  (LISP,	
  PROLOG,	
  ML)	
  
! alcune	
  (vecchie!)	
  implementazioni	
  di	
  Pascal	
  (Pcode)	
  

24 



Implementazioni	
  miste	
  	
  
e	
  interpre>	
  puri	
  

  La	
  traduzione	
  genera	
  codice	
  in	
  un	
  linguaggio	
  più	
  
facile	
  da	
  interpretare	
  su	
  una	
  >pica	
  macchina	
  ospite	
  
  Ma	
  sopra:u:o	
  può	
  effe:uare	
  una	
  volta	
  per	
  tu:e	
  (a	
  
tempo	
  di	
  traduzione,	
  sta>camente)	
  analisi,	
  verifiche	
  
e	
  o\mizzazioni	
  che	
  migliorano	
  
o  l’affidabilità	
  dei	
  programmi	
  
o  l’efficienza	
  dell’esecuzione	
  
Varie	
  proprietà	
  interessate	
  
o  inferenza	
  e	
  controllo	
  dei	
  >pi	
  
o  controllo	
  sull’uso	
  dei	
  nomi	
  e	
  loro	
  risoluzione	
  “sta>ca”	
  
o  …	
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Esempi	
  

  C:	
  compilato	
  in	
  codice	
  macchina	
  (GCC)	
  
  Java:	
  compilato	
  nel	
  byte-­‐code	
  della	
  JVM	
  (javac)	
  e	
  
il	
  byte-­‐code	
  è	
  interpretato	
  dalla	
  JVM	
  (java)	
  
  JavaScript:	
  interpretato	
  nei	
  browser	
  
  …	
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Analisi	
  sta>ca	
  

Dipende	
  dalla	
  seman>ca	
  del	
  linguaggio	
  
Cer>	
  linguaggi	
  (LISP)	
  non	
  perme:ono	
  pra>camente	
  
nessun	
  >po	
  di	
  analisi	
  sta>ca	
  
o  a	
  causa	
  della	
  regola	
  di	
  scoping	
  dinamico	
  nella	
  ges>one	
  
dell’ambiente	
  non	
  locale	
  

Linguaggi	
  funzionali	
  più	
  moderni	
  (ML)	
  perme:ono	
  
di	
  inferire	
  e	
  verificare	
  molte	
  proprietà	
  (>pi,	
  nomi,	
  …)	
  
durante	
  la	
  traduzione,	
  perme:endo	
  di	
  
o  localizzare	
  errori	
  
o  eliminare	
  controlli	
  a	
  tempo	
  di	
  esecuzione	
  

! type-­‐checking	
  dinamico	
  nelle	
  operazioni	
  
o  semplificare	
  certe	
  operazioni	
  a	
  tempo	
  di	
  esecuzione	
  

! come	
  trovare	
  il	
  valore	
  denotato	
  da	
  un	
  nome	
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Analisi	
  sta>ca	
  in	
  Java	
  

  Java	
  è	
  fortemente	
  >pato	
  
o  il	
  type	
  checking	
  può	
  essere	
  in	
  gran	
  parte	
  effe:uato	
  dal	
  tradu:ore	
  e	
  

sparire	
  quindi	
  dal	
  byte-­‐code	
  generato	
  
  Le	
  relazioni	
  di	
  subtyping	
  perme:ono	
  che	
  una	
  en>tà	
  
abbia	
  un	
  >po	
  vero	
  (actual	
  type)	
  diverso	
  da	
  quello	
  
apparente	
  (apparent	
  type)	
  
o  >po	
  apparente	
  noto	
  a	
  tempo	
  di	
  traduzione	
  
o  >po	
  vero	
  noto	
  solo	
  a	
  tempo	
  di	
  esecuzione	
  
o  è	
  garan>to	
  che	
  il	
  >po	
  apparente	
  sia	
  un	
  supertype	
  di	
  quello	
  vero	
  
  Di	
  conseguenza,	
  alcune	
  ques>oni	
  legate	
  ai	
  >pi	
  
possono	
  essere	
  risolte	
  solo	
  a	
  tempo	
  di	
  esecuzione	
  
o  scelta	
  del	
  più	
  specifico	
  fra	
  diversi	
  metodi	
  overloaded	
  
o  cas>ng	
  (tenta>vo	
  di	
  forzare	
  il	
  >po	
  apparente	
  a	
  un	
  suo	
  possibile	
  so:o>po)	
  
o  dispatching	
  dei	
  metodi	
  (scelta	
  del	
  metodo	
  secondo	
  il	
  >po	
  vero)	
  
Controlli	
  e	
  simulazioni	
  a	
  tempo	
  di	
  esecuzione	
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Seman>ca	
  formale	
  e	
  rts	
  

  Due	
  aspe\	
  essenziali	
  nella	
  nostra	
  visione	
  (intendendo	
  quella	
  
del	
  corso)	
  dei	
  linguaggi	
  di	
  programmazione	
  
o  semanGca	
  formale	
  	
  

! 	
  eseguibile,	
  implementazione	
  ad	
  al>ssimo	
  livello	
  
o  implementazioni	
  o	
  macchine	
  astra/e	
  

! interpre>	
  e	
  supporto	
  a	
  tempo	
  di	
  esecuzione	
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Perché?	
  

Perché	
  la	
  seman>ca	
  formale?	
  
o  definizione	
  precisa	
  del	
  linguaggio	
  indipendente	
  
dall’implementazione	
  
! il	
  proge\sta	
  la	
  definisce	
  
! l’implementatore	
  la	
  u>lizza	
  come	
  specifica	
  
! il	
  programmatore	
  la	
  u>lizza	
  per	
  ragionare	
  sul	
  significato	
  
dei	
  propri	
  programmi	
  

Perché	
  le	
  macchine	
  astra:e?	
  
! il	
  proge\sta	
  deve	
  tener	
  conto	
  delle	
  cara:eristche	
  
possibili	
  dell’implementazione	
  

! l’implementatore	
  la	
  realizza	
  
! il	
  programmatore	
  la	
  deve	
  conoscere	
  per	
  u>lizzare	
  al	
  
meglio	
  il	
  linguaggio	
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Perché?	
  

  Diventare	
  un	
  programmatore	
  consapevole	
  
o  migliore	
  comprensione	
  delle	
  cara:eris>che	
  dei	
  
linguaggi	
  di	
  programmazione	
  

o  comprendere	
  le	
  tecniche	
  di	
  implementazione	
  
o  migliore	
  intuizione	
  sul	
  comportamento	
  del	
  proprio	
  
codice	
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Perché?	
  

  Miscela	
  affascinante	
  di	
  teoria	
  e	
  pra>ca	
  
o  applicazione	
  immediata	
  e	
  dire:a	
  della	
  teoria	
  

! tecniche	
  di	
  analisi	
  sta>ca:	
  inferenza	
  dei	
  >pi	
  
o  tecniche	
  algoritmiche	
  (problemi	
  NP-­‐hard)	
  

! allocazione	
  delle	
  risorse	
  a	
  run-­‐>me	
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E	
  il	
  compilatore?	
  

  La	
  maggior	
  parte	
  dei	
  corsi	
  e	
  dei	
  libri	
  sui	
  linguaggi	
  si	
  
occupano	
  di	
  compilatori	
  	
  
  Perché	
  noi	
  no?	
  
o  il	
  punto	
  di	
  vista	
  dei	
  compilatori	
  verrà	
  mostrato	
  in	
  un	
  
corso	
  fondamentale	
  della	
  laurea	
  magistrale	
  

o  delle	
  cose	
  tradizionalmente	
  tra:ate	
  con	
  il	
  punto	
  di	
  
vista	
  del	
  compilatore,	
  poche	
  sono	
  quelle	
  che	
  
realmente	
  ci	
  interessano	
  

  Guardiamo	
  la	
  stru:ura	
  di	
  un	
  >pico	
  compilatore	
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Compilatore	
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Sorgente Codice Front End Back End 

Front	
  end:	
  fasi	
  di	
  analisi	
  
Legge	
  il	
  programma	
  sorgente	
  e	
  determina	
  la	
  sua	
  stru:ura	
  
sia	
  sinta\ca	
  che	
  seman>ca	
  
	
  
Back	
  end:	
  sintesi	
  
Genera	
  il	
  codice	
  nel	
  linguaggio	
  macchina,	
  programma	
  	
  
equivalente	
  al	
  programma	
  sorgente	
  
	
  



Compilatore	
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AspeR	
  criGci	
  
Riconoscere	
  i	
  programmi	
  legali	
  (sinta\camente	
  corre\)	
  
Ges>re	
  la	
  stru:ura	
  dei	
  >pi	
  
Genererare	
  codice	
  compa>bile	
  con	
  il	
  SO	
  della	
  macchina	
  	
  
ospite	
  
	
  

Sorgente Codice Front End Back End 



Front	
  End	
  

  Due	
  fasi	
  principali	
  
o  scanner:	
  compito	
  di	
  trasformare	
  il	
  programmma	
  sorgente	
  
nel	
  lessico	
  (token)	
  

o  parser:	
  legge	
  i	
  token	
  e	
  genera	
  il	
  codice	
  intermedio	
  (IR)	
  

  La	
  teoria	
  aiuta	
  
o  la	
  teoria	
  dei	
  linguaggi	
  formali:	
  automi,	
  gramma>che	
  
o  strumen>	
  automa>ci	
  per	
  generare	
  scanner	
  e	
  parser	
  

Scanner Parser source tokens IR 



Token	
  

  Token:	
  la	
  cos>tuente	
  lessicale	
  del	
  linguaggio	
  
o  operatori	
  &	
  punteggiatura:	
  {}[]!+-­‐=*;:	
  …	
  
o  parole	
  chiave:	
  if	
  while	
  return	
  class	
  …	
  
o  iden>ficatori:	
  …	
  
o  costan>:	
  int,	
  floa>ng-­‐point	
  character,	
  string,	
  …	
  



Scanner:	
  un	
  esempio	
  

  Input	
  
// codice stupido 
if (x >= y) y = 42; 

  Token 

IF LPAREN ID(x) GEQ ID(y) 

RPAREN ID(y) BECOMES INT(42) SCOLON 



Parser:	
  output	
  (IR)	
  

  Forma>	
  differen>	
  
  Formato	
  >pico	
  riconosciuto:	
  albero	
  di	
  sintassi	
  
astra:a	
  (abstract	
  syntax	
  tree)	
  
o  la	
  stru:ura	
  sinta\ca	
  essenziale	
  del	
  programma	
  senza	
  
gli	
  aspe\	
  di	
  zucchero	
  sinta\co	
  

o  ne	
  parliamo	
  anche	
  nel	
  seguito	
  



Parser:	
  AST	
  

  Abstract	
  Syntax	
  Tree	
  (AST)	
  

ifStmt 

>= 

ID(x) ID(y) 

assign 

ID(y) INT(42) 

IF LPAREN ID(x) GEQ ID(y) 

RPAREN ID(y) BECOMES INT(42) SCOLON 



AST	
  

  Gli	
  alberi	
  di	
  sintassi	
  astra:a	
  sono	
  
par>colarmente	
  rilevan>	
  perché	
  mostrano	
  la	
  
stru:ura	
  seman>ca	
  significa>va	
  dei	
  programmi.	
  
  Noi	
  nel	
  seguito	
  consideremo	
  sempre	
  la	
  sintassi	
  
astra:a!!	
  
o  senza	
  considerare	
  gli	
  aspe\	
  di	
  de:aglio	
  quali	
  
precedenza	
  operatori,	
  ambiguità,	
  etc.	
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AST:	
  esempi	
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G:	
  	
  L	
  → L	
  ;	
  E	
  	
  |	
  	
  E	
  
E	
  → a	
  	
  |	
  	
  b 

L 

E 

a 

L 

E 

a 

L 
; E L 

E 

a 

L 
; E 

b 

L 
E 

b 

; 



Derivazioni	
  e	
  AST	
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Ambiguità	
  

  Programma	
  corre:o	
  con	
  AST	
  diversi	
  
  Esempio	
  
o  E	
  →	
  E+E	
  |	
  E*E	
  |	
  id 
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E 

E 

E 

E 

E 

id id 

id +

*

E 

E 

E E 

E id 

id id 

+

*



Come	
  si	
  risolve?	
  

  Esistono	
  più	
  metodi	
  
  Ad	
  esempio,	
  codificare	
  nelle	
  regole	
  della	
  
gramma>ca	
  la	
  precedenza	
  degli	
  operatori	
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Morale	
  

  La	
  teoria	
  (gramma>che	
  e	
  linguaggi	
  formali)	
  aiuta	
  
a	
  stru:urare	
  le	
  gramma>che	
  in	
  modo	
  tale	
  da	
  
evitare	
  i	
  problemi	
  come	
  quello	
  dell’ambiguità	
  
o  …	
  e	
  tan>	
  altri	
  ancora	
  

  Tu:e	
  queste	
  problema>che	
  le	
  vedrete	
  nella	
  
magistrale…	
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Sintassi	
  astra:a	
  

  La	
  sintassi	
  astra:a	
  di	
  un	
  linguaggio	
  è	
  espressa	
  
facilmente	
  coi	
  >pi	
  di	
  dato	
  algebrici	
  di	
  Ocaml	
  
o  ogni	
  categoria	
  sinta\ca	
  diventa	
  un	
  >po	
  di	
  dato	
  
algebrico	
  di	
  Ocaml	
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Algebraic	
  Data	
  Type	
  
Type	
  BoolExp	
  =	
  
	
  	
  |	
  True	
  	
  
	
  	
  |	
  False	
  	
  
	
  	
  |	
  Not	
  of	
  BoolExp	
  	
  
	
  	
  |	
  And	
  of	
  BoolExp	
  *	
  BoolExp	
  

BNF	
  	
  
BoolExp	
  =	
  
	
  	
  |	
  True	
  	
  
	
  	
  |	
  False	
  	
  
	
  	
  |	
  NOT	
  BoolExp	
  	
  
	
  	
  |	
  BoolExp	
  AND	
  BoolExp	
  



Esempio	
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Nome.   Produzione grammaticale 
EAdd.    Exp     ::=     Exp     "+"      Exp1    ; 
ESub.    Exp     ::=     Exp      "-"      Exp1    ; 
EMul.    Exp1   ::=     Exp1    ”*"     Exp2    ; 
EDiv.     Exp1   ::=     Exp1    "/"      Exp2    ; 
EInt.      Exp2   ::=     Integer    ; 

type exp = 
   EAdd of exp * exp 
 | ESub of exp * exp 
 | EMul of exp * exp 
 | EDiv of exp * exp 
 | EInt of int 



AST	
  in	
  Java	
  

  Potremmo	
  codificare	
  la	
  sintassi	
  astra:a	
  di	
  un	
  
linguaggio	
  anche	
  in	
  Java	
  
  In	
  che	
  modo?	
  
o  ogni	
  categoria	
  sinta\ca	
  è	
  una	
  classe	
  astra:a	
  
o  ogni	
  costru:ore	
  sinta\co	
  è	
  una	
  so:oclasse	
  che	
  
estende	
  la	
  classe	
  astra:a	
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AST	
  in	
  Java	
  (esempio)	
  

  public	
  abstract	
  class	
  Exp	
  {	
  …	
  }	
  

  public	
  class	
  ESub	
  extends	
  Exp	
  {	
  
	
  	
  	
  public	
  final	
  Exp	
  exp_1,	
  exp_2;	
  
	
  	
  	
  public	
  ESub(Exp	
  p1,	
  Exp	
  p2)	
  {	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  exp_1	
  =	
  p1;	
  exp_2	
  =	
  p2;	
  
	
  	
  	
  }	
  
	
  	
  	
  :	
  
}	
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Analisi	
  seman>ca	
  (sta>ca)	
  

  Tipicamente	
  dopo	
  la	
  fase	
  di	
  parsing	
  
o  type	
  checking	
  
o  uso	
  e	
  allocazione	
  delle	
  risorse	
  
o  o\mizzazione	
  del	
  codice	
  



Back	
  End	
  

  Cosa	
  fa?	
  
o  traduce	
  il	
  codice	
  intermedio	
  nel	
  linguaggio	
  della	
  
macchina	
  ospite	
  

o  usa	
  le	
  risorse	
  della	
  macchina	
  ospite	
  in	
  modo	
  effe\vo	
  



Il	
  risultato	
  complessivo	
  

  Input	
  
if (x >= y)  
 y = 42; 

  Output	
  

	
  	
  mov	
  	
  	
  eax,[ebp+16]	
  
	
  	
  cmp	
  	
  	
  eax,[ebp-­‐8]	
  
	
  	
  jl	
  	
  	
  	
  	
  	
  	
  	
  L17	
  
	
  	
  mov	
  	
  	
  	
  [ebp-­‐8],42	
  
L17:	
  

ifStmt 

>= 

ID(x) ID(y) 

assign 

ID(y) INT(42) 



MeRamo	
  insieme	
  le	
  cose	
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Stru:ura	
  di	
  un	
  compilatore	
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Cosa	
  ci	
  interessa?	
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Analisi lessicale 

Analisi sintattica 

Analisi semantica 

Ottimizzazione 1 

Generazione codice 

Ottimizzazione 2 

Supporto a run time 

non ci interessano: 
aspetti sintattici 

non ci interessano: 
aspetti di generazione 
codice 

Solo	
  la	
  parte	
  in	
  giallo!!	
  



JIT	
  compiler	
  

Idea:	
  compilare	
  il	
  byte-­‐code	
  nel	
  codice	
  na>vo	
  
durante	
  l’esecuzione	
  
Vantaggi	
  
o  programma	
  con>nua	
  a	
  essere	
  porta>le;	
  
o  esecuzioni	
  “o\mizzate”	
  (code	
  inlining)	
  
Svantaggi	
  
o  rts	
  molto	
  complesso	
  (o\mizza	
  long-­‐running	
  ac>va>on)	
  
o  costo	
  della	
  compilazioni	
  JIT	
  
Noi	
  non	
  ne	
  parliamo!	
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